OB E AR R

FAEAEH B - k25T H 24 H

T I0 IRE KRG JE\ ) Kfe  EWE  pH KR oy DO DO PO,~P NH,~N NO,~N NO,—N COD  KIGH#EE KeE
(m) Al EE (m) (C) (mg/L) (%) (pg/L)  (ueg/L) (peg/L)  (ug/L)  (mg/L) MPN/100ml
St.1 8:45 0 ESE B 8.0 8.3 20.0  30.88 8.6 109.3 3.7 6.0 0.2 2.6 0.0 7=V I8
BB 5 1 7 8.3 18.0  32.50 8.5 105.8 0.0 3.7 0.2 2.7 0.0 <1.8
10 8.3 17.5  32.89 8.4 104.2 0.0 3.5 0.1 3.2 0.0
B-1 8. 2 15.4  33.65 7.9 94. 3 2.8 15. 7 2.8 13. 1 0.0
St.?2 8:26 0 ESE = 7.0 8. 4 21.2  28.95 8.9 114.3 3.9 15. 3 0.8 9.0 0.0 U—112
T 5 1 9 8.3 18.2  32.38 8.4  104.2 1.3 2.9 0.2 3.3 0.0 2.0
10 8.3 17.0  32.96 7.8 95. 7 0. 4 8.1 0.8 5.1 0.0
B-1 8.2 15.0 33.72 7.8 92. 7 13.1 27.7 3.8 22.9 0.0
St.3 9:25 0 ESE B 8.0 8. 4 22.3  27.00 9.3  120.0 2.5 12.6 1.0 14. 8 0.3 TH= T
¥ 2.5 1 7 8.3 18.9 31.61 8.5 106.8 0.0 2.2 0.0 2.0 -
5 8.3 17.8  32.36 8.2 101.4 0.0 3.2 0.3 2.3 0.0 2.0
10 8.2 17.0  32.90 7.9 96. 5 0.0 8.0 0.2 3.3 0.0
B-1 8.1 16.1  33.40 5.7 68. 3 24. 6 94. 0 3.9 10. 7 0.0
St.4 9:03 0 ESE B 10.0 8.3 21.6  28.28 8.5 108.7 1.2 6. 2 0.3 4.7 0.0 7=VI8
TEAR 2.5 1 7 8.3 19.3  31.65 8.5 107.8 0.0 3.3 0.2 2.2 -
5 8.3 18.0  32.45 8.4 104.0 0.0 2.8 0.2 2.2 0.0 4.5
10 8.3 17.1  32.96 8.2  100.8 0.0 8.6 1.2 4.4 0.0
B-1 8. 2 14.4 33,84 8.1 94. 9 4.3 12. 7 3.8 19. 7 0.0
St.5 10:39 0 E = 3.0 8. 4 21.0  28.40 9.9 126.2 6.0 7.2 0.8 3.1 0.3 7=V 9
KR 2.5 1 10 8.3 18.3  32.03 8.3 103.9 1.2 3.3 0.3 1.9 -
5 8.2 17.4  32.65 7.7 94. 9 2.2 7.2 0.7 2.7 0.0 2.0
B-1 8.2 17.1  32.79 6.5 79.9 5.7 29.9 2.4 8.6 0.0
St.6 10:01 0 ESE 5 4.0 8. 4 20.8  29.16 9.3 118.7 6.1 1.6 0.4 1.4 0.0 7=V I9
A H AR AT 1 1 8 8. 4 19.8  30.40 9.4 118.5 1.7 2.4 0.3 0.8 0.0
5 8.2 17.7  32.71 6.8 83. 7 1.5 6.0 1.3 3.1 0.0 <1.8
B-1 8.1 17.3  32.79 6. 2 76. 2 2.7 10. 5 1.9 5.7 0.0
St.7 10:30 0 E IS 2.5 8. 4 20.4  28.87 9.9 125.0 9.3 23.3 4.5 35. 8 0.5 7=V I10
fa s 1 1 9 8. 4 19.5  30.04 9.9 123.8 6.7 7.3 2.2 13.5 0.3
5 8. 4 17.3  32.66 9.9  122.2 5.7 12.1 2.6 17. 3 0.5 17.0
B-1 8.2 17.2  32.72 6. 8 83. 9 4.4 19. 0 2.1 7.4 0.0
St.8 9:37 0 ESE 5 8.0 8.4 21.7  27.86 8.8 113.6 6.8 0.2 0.4 1.9 0.3 7+=VI8
HBEIXE Y 2.5 1 8 8.3 18.6  31.66 8.8 110.2 0.0 2.5 0.1 0.8 -
5 8.2 17.4  32.62 8.4 102.9 0.0 2.8 0.0 1.2 0.2 1.8
10 8.3 17.0  33.01 8.1 99. 4 0.0 11.1 0.5 4.4 0.0
B-1 8. 1 16.4  33.29 6. 2 75. 4 17.8 81. 4 3.3 9.5 0.2
St.9 9:49 0 E = 6.0 8. 4 21.9  27.56 9.4 120.8 4.8 10.6 0.6 2.2 0.5 7=V
FAX Y7 2.5 1 9 8. 4 18.8  31.48 8.8 110.6 0.2 1.5 0.0 1.0 -
5 8.3 17.5  32.56 8.4 103.2 0.0 2.6 0.1 1.2 0.2 5.6
10 8.3 17.0  32.95 7.6 93.7 0.0 8.8 0.4 3.4 0.0
B-1 8. 1 16.6  33.10 5.1 62. 1 21.3 103. 7 3.6 9.2 0.0
17 () 10:09 0 ESE = 3.5 8. 4 21.6  27.76 9.2 118.1 4.7 20.0 1.0 2.9 0.3 7410
B-1 1 9 8. 2 17.7  32.53 7.7 95. 3 0.3 5.6 0. 4 2.0 0.0 33.0
K (B) 10:20 0 E = 5.5 8. 4 20.4  28.67 9.1 114.5 2.8 6.7 1.3 17.5 0.0 7=V 9
5 1 9 8.3 17.5  32.64 8.1 99. 9 0.0 2.4 0.1 1.0 0.0 2.0
B-1 8. 2 16.8  33.01 6.1 74.7 7.2 53. 8 2.6 9.9 0.0




